The Bright Side of Mathematics - https://tbsom.de/s/ra

Problem 2 Estimate the radius of convergence (4 points)
The sequence (ag)ren is given by
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372, k even.

We consider the power series Y /- arx”® and want to calculate its radius of convergence.

a) Can you find the radius of convergence by using the ratio test (quotient formula

from the tutorial)? Does the ratio test give you, at least, some numbers a, b € [0, o]
with a < R < b?

b) Calculate the radius of convergence by using the Cauchy-Hadamard theorem (root
formula from the tutorial).
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